

Towards combining two constructions of intuitionistic fuzzy sets

K. Atanassov, T. Trifonov

CLBME - Bulgarian Academy of Sciences,
Acad. G. Bonchev Str., Bl. 105, Sofia-1113, BULGARIA
e-mails: *krat@bas.bg, trifonov@clbme.bas.bg*

Abstract

In this paper the authors discuss how *intuitionistic fuzzy sets as defined by Atanassov in [1] can be combined with a construction by Takeuti and Titani ([12]), given by its authors the same name. The resulting object, has the semantics of the former, while satisfying the axioms of the latter. Correctness of the construction is proved in the axiomatic system presented in [12].*

1. Introduction

The first research, devoted to the concept of “*Intuitionistic Fuzzy set*” (IFS) was introduced in 1983 in [1] by the first of the authors (we will refer to this concept as A-IFS). More than a year after this, G. Takeuti and S. Titani introduced in [12] another mathematical concept, using the same name (we will refer to it as T-IFS). When the first author of the present research understood about Takeuti and Titani’s paper, he noted this fact in his book [4]. The first bibliography on IFS contains about 400 papers related to A-IFS, prepared in 18 year period (see [11]), while the second bibliography contains new 400 papers only for 3-year period. This fact shows that the interest to A-IFSs increases.

In the present paper the authors will show how the T-IFS construction can be accommodated to an A-IFS representation. Moreover, we will demonstrate how a variety of such constructions can be easily obtained. In [12] Takeuti and Titani suggest that the interval $[0;1]$, viewed as a complete Heyting algebra, can be used to construct a model of the intuitionistic logic. They extend Gentzen’s LJ axiomatic of intuitionistic logic with six additional axioms and one derivation rule and prove correctness and strong completeness in the obtained system. We will show how this construction can be trivially modified to use

$$L^* = \{\langle x, y \rangle \in [0; 1] \times [0; 1] \mid x + y \leq 1\}$$

as the truth value set.

L^* is the truth value set of A-IFS; the two independent components of the pair represent the degree of membership and the degree of non-membership with the condition of non-contradiction. When the second degree depends on the first in the manner

$y = 1 - x$, we obtain an ordinary fuzzy set. Therefore, Takeuti and Titani's construction can be modified by introducing an independent degree of non-membership y , which can vary from 0 to $1 - x$.

Formulas in intuitionistic logic always satisfy

$$A \rightarrow \neg\neg A \quad (1)$$

for every proposition A , but not always

$$\neg\neg A \rightarrow A. \quad (2)$$

When proposition A satisfies simultaneously (1) and (2), the equality

$$A = \neg\neg A \quad (3)$$

holds, which is valid in classical logic.

Initially, connectives in A-IFS were defined in such manner, that (3) was valid in Intuitionistic Fuzzy Logic (IFL), developed in 1988 in [2] (see, also [4, 5, 8, 9] and others). This fact is the starting point for criticism from some colleagues who argue that the word "intuitionistic" does not apply to A-IFS. Our goal in this paper is to show that one of the possibilities to define connectives in A-IFS, which satisfy the axioms of intuitionistic logic without collapsing to classical logic, is to follow the construction in [12].

2. T-IFS style implication in A-IFS

The T-IFS implication is introduced for $p, q \in [0, 1]$ by

$$p \rightarrow q = \bigvee \{r \in [0, 1] \mid p \wedge r \leq q\} = \begin{cases} 1, & \text{if } p \leq q \\ q, & \text{if } p > q \end{cases}.$$

This implication can be written in an explicit form, using the following auxiliary functions:

$$\text{sg}(x) = \begin{cases} 0, & \text{if } x \leq 0 \\ 1, & \text{if } x > 0 \end{cases}, \text{sg}^*(x) = \begin{cases} 1, & \text{if } x \leq 0 \\ 0, & \text{if } x > 0 \end{cases}.$$

Obviously,

$$\text{sg}^*(x) = \text{sg}(1 - \text{sg}(x)).$$

Therefore, the implication in T-IFS sense can be written as

$$p \rightarrow q = \max(q, \text{sg}^*(p - q)).$$

In the same manner we can define an A-IFS implication in L^* :

$$\langle p_1, p_2 \rangle \rightarrow \langle q_1, q_2 \rangle = \langle \max(q_1, \text{sg}^*(p_1 - q_1)), \min(q_2, \text{sg}(p_1 - q_1)) \rangle, \quad (4)$$

or equivalently

$$\langle p_1, p_2 \rangle \rightarrow \langle q_1, q_2 \rangle = \begin{cases} \langle 1, 0 \rangle, & \text{if } p_1 \leq q_1 \\ \langle q_1, q_2 \rangle, & \text{if } p_1 > q_1 \end{cases}. \quad (4')$$

Clearly

$$\langle p_1, p_2 \rangle \rightarrow \langle q_1, q_2 \rangle = \langle 1, 0 \rangle \iff p_1 \leq q_1.$$

Further, the negation has the form

$$\begin{aligned} \neg \langle a, b \rangle &= \langle a, b \rangle \rightarrow \langle 0, 1 \rangle = \langle \max(0, \text{sg}^*(a)), \min(1, \text{sg}(a)) \rangle \\ &= \langle \text{sg}^*(a), \text{sg}(a) \rangle = \begin{cases} \langle 0, 1 \rangle, & \text{if } a > 0 \\ \langle 1, 0 \rangle, & \text{if } a = 0 \end{cases} \end{aligned}$$

The other logical connectives - conjunction and disjunction, are to be interpreted in the classical A-IFS manner:

$$\begin{aligned} \langle p_1, p_2 \rangle \vee \langle q_1, q_2 \rangle &= \langle \max(p_1, q_1), \min(p_2, q_2) \rangle, \\ \langle p_1, p_2 \rangle \wedge \langle q_1, q_2 \rangle &= \langle \min(p_1, q_1), \max(p_2, q_2) \rangle. \end{aligned}$$

It is important to note that a partial ordering has been defined on the truth value set L^* as follows:

$$\langle p_1, p_2 \rangle \leq \langle q_1, q_2 \rangle \text{ iff } p_1 \leq p_2 \& q_1 \geq q_2,$$

thus making L^* a complete lattice, as noted by Deschrijver and Kerre in [10]. Then the implication defined above has the following property:

$$\langle p_1, p_2 \rangle \leq \langle q_1, q_2 \rangle \Rightarrow (\langle p_1, p_2 \rangle \rightarrow \langle q_1, q_2 \rangle) = \langle 1, 0 \rangle.$$

The implication over $[0,1]$ defined by Takeuti and Titani holds the same property for the standard linear ordering of real numbers.

3. A-IFS as a model of Takeuti and Titani's axiomatic

In [12] Takeuti and Titani extend the axiomatic of intuitionistic logic in order to use a non-discrete truth value set with the power of the continuum. We will show that A-IFSs with the connectives, defined in the previous section can be used as semantics for this axiomatic system. Moreover, this can be done following strictly the construction in [12] by translating the operations in $[0,1]$ to the appropriate operations in L^* .

Let us consider the language \mathcal{L} of first-order predicate logic with propositional variables, in which the axiomatic is presented:

- individual free and bound variables: $a_0, a_1, \dots, x_0, x_1, \dots$;
- individual constants: c_0, c_1, \dots ;
- propositional variables: p_0, p_1, \dots ;
- propositional constants: z_0, z_1, \dots ;
- predicate symbols with their arity: $R_0/n_0, R_1/n_1, \dots$;
- logical symbols: $\vee, \wedge, \rightarrow, \neg, \exists, \forall$.

In the A-IFS model, propositional variables and constants are to be interpreted in L^* , while predicates are to be interpreted as functions, ranging over L^* .

Let \mathcal{A} be a non-empty set. Let us consider the language \mathcal{L}' , extended with a continuum of propositional constants $\bar{\beta}$ for each $\beta \in L^*$ and individual constants $\bar{\alpha}$ for each

$\alpha \in \mathcal{A}$. We will call $\langle \mathcal{A}, [[\]]]$ an *A-IFS model* of Takeuti and Titani's axiomatic if $[[\]]$ is an interpretation function over the set of closed terms and formulas in \mathcal{L}' as follows:

$$\begin{aligned}
[[c]] &\in \mathcal{A} && \text{foreach individual constant } c, \\
[[\bar{\alpha}]] &= \alpha && \text{foreach } \alpha \in \mathcal{A}, \\
[[p]] &\in L^*, \\
[[\bar{\beta}]] &= \beta && \text{foreach } \beta \in L^*, \\
[[R]] &: \mathcal{A} \rightarrow L^* && \text{foreach } n\text{-arity predicate symbol } R, \\
[[R(t_1, \dots, t_n)]] &= [[R]]([[t_1]], \dots, [[t_n]]), \\
[[A \wedge B]] &= [[A]] \wedge [[B]], \\
[[A \vee B]] &= [[A]] \vee [[B]], \\
[[\neg A]] &= \neg [[A]], \\
[[A \rightarrow B]] &= [[A]] \rightarrow [[B]], \\
[[\forall x \varphi(x)]] &= \bigwedge_{\alpha \in \mathcal{A}} [[\varphi(\bar{\alpha})]], \\
[[\exists x \varphi(x)]] &= \bigvee_{\alpha \in \mathcal{A}} [[\varphi(\bar{\alpha})]].
\end{aligned}$$

In order to evaluate an open formula in \mathcal{L} , we need an assignment of values to the individual and propositional variables $\rho : \{a_0, a_1, \dots; z_0, z_1, \dots\} \rightarrow \mathcal{A} \cup L^*$. We will use the notation from [12] for substitution of free variables in an open formula A in \mathcal{L} with their values, given by an assignment ρ to receive the closed formula A_ρ in \mathcal{L}' . The truth value of a sequent is defined in a natural way via the implication:

$$[[\Sigma \Rightarrow \Delta]] = \bigvee_{\xi \in \Sigma} [[\xi \rightarrow \Delta]].$$

A sequent $\Sigma \Rightarrow \Delta$ is valid in a model $\langle \mathcal{A}, [[\]]]$ iff $[[\Sigma \Rightarrow \Delta]]_\rho = \langle 1, 0 \rangle$ for every assignment ρ . A sequent is valid (an A-IFS predicate tautology as defined in [8, 9]) if it is valid in every model.

We should note here that this definition of validity is monotone in L^* , as is the case in [0,1]:

$$[[\Sigma]] \leq [[\Delta]] \implies \Sigma \Rightarrow \Delta \text{ is valid.}$$

4. Correctness of the A-IFS model

In [3] Atanassov showed that the axioms and rules of intuitionistic logic are valid in the A-IFS sense. This proof can be translated with the definitions of the validity and implication given above. In this paper we will prove that

- (1) the Extra Axiom Schemata are valid in the A-IFS sense
- (2) the Extra Inference Rule preserves validity in the A-IFS sense

Theorem 1. The Extra Axiom Schemata for TT-IF are valid.

Proof. In all proofs we will consider an arbitrary model $\langle \mathcal{A}, [[\]]]$ with an arbitrary assignment ρ . Furthermore, let

$$\begin{aligned}
[[A]] &= \langle a, b \rangle, \\
[[B]] &= \langle c, d \rangle, \\
[[C]] &= \langle e, f \rangle, \\
[[D]] &= \langle g, h \rangle.
\end{aligned}$$

Extra Axiom Schemata of Takeuti and Titani:

- (a) $\Rightarrow (A \rightarrow B) \vee ((A \rightarrow B) \rightarrow B)$;
- (b) $(A \rightarrow B) \rightarrow B \Rightarrow (B \rightarrow A) \vee B$;
- (c) $(A \wedge B) \rightarrow C \Rightarrow (A \rightarrow C) \vee (B \rightarrow C)$;
- (d) $A \rightarrow (B \vee C) \Rightarrow (A \rightarrow B) \vee (A \rightarrow C)$;
- (e) $\forall x(C \vee A(x)) \Rightarrow C \vee \forall x(A(x))$, where x does not occur in C ;
- (f) $\forall x A(x) \rightarrow C \Rightarrow \exists x(A(x) \rightarrow D) \vee (D \rightarrow C)$, where x does not occur in D .

(a) Let A and B be formulae in \mathcal{L} .

$$\begin{aligned}
& [[(A \rightarrow B) \vee ((A \rightarrow B) \rightarrow B)]_\rho = \\
& = \langle \langle a, b \rangle \rightarrow \langle c, d \rangle \rangle \vee \langle \langle a, b \rangle \rightarrow \langle c, d \rangle \rangle \rightarrow \langle c, d \rangle \\
& = \langle \max(c, \text{sg}^*(a - c)), \min(d, \text{sg}(a - c)) \rangle \\
& \quad \vee \langle \max(c, \text{sg}^*(a - c)), \min(d, \text{sg}(a - c)) \rangle \rightarrow \langle c, d \rangle \\
& = \langle \max(c, \text{sg}^*(a - c)), \min(d, \text{sg}(a - c)) \rangle \\
& \quad \vee \langle \max(c, \text{sg}^*(\max(c, \text{sg}^*(a - c)) - c)), \min(d, \text{sg}(\max(c, \text{sg}^*(a - c)) - c)) \rangle.
\end{aligned}$$

If $a \leq c$, then $\text{sg}^*(a - c) = 1$ and

$$\begin{aligned}
& [[(A \rightarrow B) \vee ((A \rightarrow B) \rightarrow B)]_\rho \\
& = \langle 1, 0 \rangle \vee \langle \max(c, \text{sg}^*(1 - c)), \\
& \quad \min(d, \text{sg}(\max(c, 1 - c))) \rangle \\
& = \langle 1, 0 \rangle.
\end{aligned}$$

If $a > c$, then $\text{sg}^*(a - c) = 0$, $\text{sg}(a - c) = 1$ and

$$\begin{aligned}
& [[(A \rightarrow B) \vee ((A \rightarrow B) \rightarrow B)]_\rho = \langle c, d \rangle \vee \langle \max(c, 1), \min(d, 0) \rangle \\
& = \langle c, d \rangle \vee \langle 1, 0 \rangle = \langle 1, 0 \rangle.
\end{aligned}$$

Therefore, (a) is valid.

(b) Let A and B be formulae in \mathcal{L} . From above, we have

$$\begin{aligned}
& [[(A \rightarrow B) \rightarrow B]]_\rho \\
& = \langle \max(c, \text{sg}^*(\max(c, \text{sg}^*(a - c)) - c)), \min(d, \text{sg}(\max(c, \text{sg}^*(a - c)) - c)) \rangle
\end{aligned}$$

and

$$\begin{aligned}
& [[(B \rightarrow A) \vee B]]_\rho = \langle \max(a, \text{sg}^*(c - a)), \min(b, \text{sg}(c - a)) \rangle \vee \langle c, d \rangle \\
& = \langle \max(a, c, \text{sg}^*(c - a)), \min(b, d, \text{sg}(c - a)) \rangle.
\end{aligned}$$

If $a \leq c = 1$, then $d = 0$ and

$$\max(a, c, \text{sg}^*(c - a)) - \max(c, \text{sg}^*(\max(c, \text{sg}^*(a - c)) - c)) = 1 - 1 = 0$$

and

$$\min(d, \text{sg}(\max(c, \text{sg}^*(a - c)) - c)) - \min(b, d, \text{sg}(c - a)) = 0 - 0 = 0.$$

If $a \leq c < 1$, then

$$\max(a, c, \text{sg}^*(c - a)) - \max(c, \text{sg}^*(\max(c, \text{sg}^*(a - c)) - c)) - \max(c, \text{sg}^*(1 - c)) = c - c = 0$$

and

$$\begin{aligned}
& \min(d, \text{sg}(\max(c, \text{sg}^*(a - c)) - c)) - \min(b, d, \text{sg}(c - a)) \\
& = \min(d, \text{sg}(1 - c)) - \min(b, d, \text{sg}(c - a)) \geq d - \min(b, d, \text{sg}(c - a)) \geq 0.
\end{aligned}$$

If $a > c$, then

$$\max(a, c, \text{sg}^*(c - a)) - \max(c, \text{sg}^*(\max(c, \text{sg}^*(a - c)) - c))1 - \max(c, 0) = 1 - c > 0$$

and

$$\begin{aligned} & \min(d, \text{sg}(\max(c, \text{sg}^*(a - c)) - c)) - \min(b, d, \text{sg}(c - a)) \\ &= \min(d, \text{sg}(\max(c, 0) - c)) - \min(b, d, 0) = 0 - 0 = 0. \end{aligned}$$

Therefore, the value of the left side of (b) is smaller than the value of the right side, hence (b) is valid.

(c) Let A, B and C be formulae in \mathcal{L} .

$$\begin{aligned} [[(A \wedge B) \rightarrow C]]_\rho &= \langle a, b \rangle \wedge \langle c, d \rangle \rightarrow \langle e, f \rangle = \langle \min(a, c), \max(b, d) \rangle \rightarrow \langle e, f \rangle \\ &= \langle \max(e, \text{sg}^*(\min(a, c) - e)), \min(f, \text{sg}(\min(a, c) - e)) \rangle. \end{aligned}$$

and

$$\begin{aligned} [[[A \rightarrow C] \vee (B \rightarrow C)]]_\rho &= \langle a, b \rangle \rightarrow \langle e, f \rangle \vee \langle c, d \rangle \rightarrow \langle e, f \rangle \\ &= \langle \max(e, \text{sg}^*(a - e)), \min(f, \text{sg}(a - e)) \rangle \\ &\quad \vee \langle \max(e, \text{sg}^*(c - e)), \min(f, \text{sg}(c - e)) \rangle \\ &= \langle \max(e, \text{sg}^*(a - e), \text{sg}^*(c - e)), \\ &\quad \min(f, \text{sg}(a - e), \text{sg}(c - e)) \rangle. \end{aligned}$$

Let

$$X \equiv \max(e, \text{sg}^*(a - e), \text{sg}^*(c - e)) - \max(e, \text{sg}^*(\min(a, c) - e)).$$

If $\min(a, c) \leq e$, then $a \leq e$ or $c \leq e$ and hence

$$X = \max(e, \text{sg}^*(a - e), \text{sg}^*(c - e)) - 1 = 1 - 1 = 0.$$

If $\min(a, c) > e$, then $a > e$ and $c > e$ and hence

$$X = e - e = 0.$$

Therefore, $X = 0$.

For the difference $\min(f, \text{sg}(\min(a, c) - e)) - \min(f, \text{sg}(a - e), \text{sg}(c - e))$ we construct the expression

$$Y \equiv \text{sg}(\min(a, c) - e) - \min(\text{sg}(a - e), \text{sg}(c - e)).$$

If $\min(a, c) \leq e$, then $a \leq e$ or $c \leq e$, and hence

$$Y = 0 - \min(0, 0) = 0,$$

if $\min(a, c) > e$, then $a > e$ and $c > e$, and hence

$$Y = 1 - \min(1, 1) = 0.$$

Therefore, $Y = 0$. Hence, the two sides of (c) have the same values, in particular (c) is valid.

(d) Let A, B and C be formulae in \mathcal{L} .

$$\begin{aligned} [[A \rightarrow (B \wedge C)]]_\rho &= \langle a, b \rangle \rightarrow \langle c, d \rangle \wedge \langle e, f \rangle \\ &= \langle \max(c, e, \text{sg}^*(a - \max(c, e))), \min(d, f, \text{sg}(a - \max(c, e))) \rangle \end{aligned}$$

and

$$\begin{aligned}
[[(A \vee B) \vee (A \rightarrow C)]]_\rho &= \langle a, b \rangle \rightarrow \langle c, d \rangle \vee \langle a, b \rangle \rightarrow \langle e, f \rangle \\
&= \langle \max(c, \text{sg}^*(a - c)), \min(d, \text{sg}(a - c)) \rangle \\
&\quad \vee \langle \max(e, \text{sg}^*(a - e)), \min(f, \text{sg}(a - e)) \rangle \\
&= \langle \max(c, e, \text{sg}^*(a - c), \text{sg}^*(a - e)), \\
&\quad \min(d, f, \text{sg}(a - c), \text{sg}(a - e)) \rangle.
\end{aligned}$$

For the difference

$$\max(c, e, \text{sg}^*(a - c), \text{sg}^*(a - e)) - \max(c, e, \text{sg}^*(a - \max(c, e)))$$

let

$$X \equiv \max(\text{sg}^*(a - c), \text{sg}^*(a - e)) - \text{sg}^*(a - \max(c, e)).$$

If $a \leq c$ or $a \leq e$, then $a \leq \max(c, e)$ and

$$X = 1 - 1 = 0,$$

if $a > c$ and $a > e$, then $a > \max(c, e)$ and

$$X = \max(0, 0) - 0 = 0,$$

i.e., $X = 0$. Therefore,

$$\max(c, e, \text{sg}^*(a - c), \text{sg}^*(a - e)) = \max(c, e, \text{sg}^*(a - \max(c, e))).$$

Let

$$Y \equiv \min(d, f, \text{sg}(a - \max(c, e))) - \min(d, f, \text{sg}(a - c), \text{sg}(a - e)).$$

If $a \leq c$ or $a \leq e$, then $a \leq \max(c, e)$ and

$$Y = \min(d, f, 0) - \min(d, f, 0, 0) = 0,$$

if $a > c$ and $a > e$, then $a > \max(c, e)$ and

$$Y = \min(d, f, 1) - \min(d, f, 1) = \min(d, f) - \min(d, f) = 0,$$

i.e., $Y = 0$. Therefore, the two sides of (d) have the same value and (d) is valid.

(e) Let $A(x)$ and C be formulae in \mathcal{L} and let x do not occur in C . Let

$$[[A(x)]]_\rho = \langle a(\rho(x)), b(\rho(x)) \rangle \text{ for some assignment } \rho.$$

Then

$$\begin{aligned}
[[\forall x(C \vee A(x))]]_\rho &= \bigwedge_{\alpha \in \mathcal{A}} \langle \langle e, f \rangle \vee \langle a(\alpha), b(\alpha) \rangle \rangle \\
&= \bigwedge_{\alpha \in \mathcal{A}} \langle \max(e, a(\alpha)), \min(f, b(\alpha)) \rangle \\
&= \langle \min_\alpha \max(e, a(\alpha)), \max_\alpha \min(f, b(\alpha)) \rangle
\end{aligned}$$

and

$$\begin{aligned}
[[C \vee \forall x A(x)]]_\rho &= \langle e, f \rangle \vee \bigwedge_{\alpha \in \mathcal{A}} \langle a(\alpha), b(\alpha) \rangle \\
&= \langle e, f \rangle \vee \langle \min_\alpha a(\alpha), \max_\alpha b(\alpha) \rangle \\
&= \langle \max(e, \min_\alpha a(\alpha)), \min(f, \max_\alpha b(\alpha)) \rangle.
\end{aligned}$$

Let

$$X \equiv \max(e, \min_\alpha a(\alpha)) - \min_\alpha \max(e, a(\alpha)).$$

If $e < \min_{\alpha} a(\alpha)$, then for all $\alpha \in \mathcal{A}$: $e < a(\alpha)$ and

$$X = \min_{\alpha} a(\alpha) - \min_{\alpha} a(\alpha) = 0,$$

if $e \geq \min_{\alpha} a(\alpha)$, then there exists $\alpha \in \mathcal{A}$ for which $e \geq a(\alpha)$ and

$$X = e - \min_{\alpha} \max(e, a(\alpha)) \geq e - e = 0.$$

Let

$$Y \equiv \max_{\alpha} \min(f, b(\alpha)) - \min(f, \max_{\alpha} b(\alpha)).$$

If $f \leq \max_{\alpha} b(\alpha)$, then there exists $\alpha \in \mathcal{A}$ for which $f \leq b(\alpha)$ and

$$Y = \max_{\alpha} \min(f, b(\alpha)) - f \geq f - f = 0,$$

if $f > \max_{\alpha} b(\alpha)$, then for all $\alpha \in \mathcal{A}$: $f > b(\alpha)$ and

$$Y = f - \max_{\alpha} b(\alpha) > 0,$$

i.e., $Y \geq 0$. Therefore, (e) is valid.

(f) Let A, C and D be formulae in \mathcal{L} and let x do not occur in D . Similarly, let

$$[[A(x)]]_{\rho} = \langle a(\rho(x)), b(\rho(x)) \rangle \text{ for some assignment } \rho.$$

Then

$$[[\forall x A(x) \rightarrow C]]_{\rho} = \langle \max(e, \text{sg}^*(\min_{\alpha} a(\alpha) - e)), \min(f, \text{sg}(\min_{\alpha} a(\alpha) - e)) \rangle$$

and

$$\begin{aligned} [[\exists x(A(x) \rightarrow D) \vee (D \rightarrow C)]]_{\rho} &= \bigvee_{\alpha \in \mathcal{A}} \langle \max(g, \text{sg}^*(a(\alpha) - g)), \\ &\quad \min(h, \text{sg}(a(\alpha) - g)) \rangle \\ &\quad \vee \langle \max(e, \text{sg}^*(g - e)), \min(f, \text{sg}(g - e)) \rangle \\ &= \langle \max_{\alpha} (\max(g, \text{sg}^*(a(\alpha) - g))), \\ &\quad \min_{\alpha} (\min(h, \text{sg}(a(\alpha) - g))) \rangle \\ &\quad \vee \langle \max(e, \text{sg}^*(g - e)), \min(f, \text{sg}(g - e)) \rangle \\ &= \langle \max(\max_{\alpha} (\max(g, \text{sg}^*(a(\alpha) - g))), \\ &\quad \max(e, \text{sg}^*(g - e))), \\ &\quad \min(\min_{\alpha} (\min(h, \text{sg}(a(\alpha) - g))), \\ &\quad \min(f, \text{sg}(g - e))) \rangle \\ &= \langle \max(g, \max_{\alpha} \text{sg}^*(a(\alpha) - g)), e, \text{sg}^*(g - e), \\ &\quad \min(f, h, \min_{\alpha} \text{sg}(a(\alpha) - g)), \text{sg}(g - e) \rangle. \end{aligned}$$

Let

$$X \equiv \max(g, \max_{\alpha} \text{sg}^*(a(\alpha) - g)), e, \text{sg}^*(g - e) - \max(e, \text{sg}^*(\min_{\alpha} a(\alpha) - e)).$$

If there is $\alpha \in \mathcal{A}$: $e \geq a(\alpha)$, then

$$\begin{aligned} X &= \max(e, g, \max_{\alpha} \text{sg}^*(a(\alpha) - g), \text{sg}^*(g - e)) - \max(e, 1) \\ &= \max(e, g, \max_{\alpha} \text{sg}^*(a(\alpha) - g), \text{sg}^*(g - e)) - 1. \end{aligned}$$

If $g \leq e$, then

$$X = \max(e, g, \max_{\alpha} \text{sg}^*(a(\alpha) - g), 1) - 1 = 0,$$

if $g > e$, then there exists $\alpha \in \mathcal{A}$: $g > e > a(\alpha)$ and

$$X = \max(e, g, 1, 0) - 1 = 0,$$

if for all $\alpha \in \mathcal{A}$: $e < a(\alpha)$, then

$$X = \max(e, g, \max_{\alpha} \text{sg}^*(a(\alpha) - g), \text{sg}^*(g - e)) - \max(e, 0) \geq 0.$$

Therefore, always $X \geq 0$.

Let

$$Y \equiv \min(f, \text{sg}(\min_{\alpha} a(\alpha) - e)) - \min(f, h, \min_{\alpha} \text{sg}(a(\alpha) - g), \text{sg}(g - e)).$$

If there is $\alpha \in \mathcal{A}$: $g \geq a(\alpha)$, then

$$\begin{aligned} Y &= \min(f, \text{sg}(\min_{\alpha} a(\alpha) - e)) - \min(f, h, 0, \text{sg}(g - e)) \\ &= \min(f, \text{sg}(\min_{\alpha} a(\alpha) - e)) - 0 \geq 0, \end{aligned}$$

if for all $\alpha \in \mathcal{A}$: $g < a(\alpha)$, then

$$\begin{aligned} Y &= \min(f, \text{sg}(\min_{\alpha} a(\alpha) - e)) - \min(f, h, 1, \text{sg}(g - e)) \\ &= \min(f, \text{sg}(\min_{\alpha} a(\alpha) - e)) - \min(f, h, \text{sg}(g - e)). \end{aligned}$$

If $e \geq g$, then

$$\begin{aligned} X &= \min(f, \text{sg}(\min_{\alpha} a(\alpha) - e)) - \min(f, h, 0) \\ &= \min(f, \text{sg}(\min_{\alpha} a(\alpha) - e)) - 0 \geq 0, \end{aligned}$$

if $e < g$, then for all $\alpha \in \mathcal{A}$: $e < g < a(\alpha)$. i.e.,

$$\min_{\alpha} a(\alpha) > e.$$

Hence

$$Y = \min(f, 1) - \min(f, h, 1, \text{sg}(g - e)) = f - \min(f, h, 1) = f - \min(f, h) \geq 0.$$

Therefore, always $Y \geq 0$ and (f) is valid. 2

Theorem 2. The Extra Inference Rule TT-IF preserves validity in the A-IFS model.

Proof. We will prove that in the Extra Inference Rule

$$\frac{\Gamma \Rightarrow A \vee (C \rightarrow z) \vee (z \rightarrow B)}{\Gamma \Rightarrow A \vee (C \rightarrow B)}$$

whenever the upper sequent is valid then the lower sequent is also valid, where Γ is a finite set of propositional formulas and z is a propositional variable, which does not occur in the lower sequent.

The proof for the TT-IFS case, as done in [12] can easily be translated in the A-IFS model in the following manner.

We will prove the contraposition of the rule, i.e. whenever the lower sequent is not valid, the upper sequent is not valid either. Let $\langle \mathcal{A}, [[]] \rangle$ be an A-IFS model, and ρ be an assignment in this model for which:

$$[[\Gamma \Rightarrow A \vee (C \rightarrow B)]]_{\rho} \neq \langle 1, 0 \rangle.$$

As $[[\Gamma \Rightarrow F]]_\rho = \bigvee_{\xi \in \Gamma} [[\xi \Rightarrow F]]_\rho$, then for every $\xi \in \Gamma$ it is true that

$$[[\xi \Rightarrow A \vee (C \rightarrow B)]]_\rho \neq \langle 1, 0 \rangle.$$

Let $[[A]]_\rho = \langle a_1, a_2 \rangle$, $[[B]]_\rho = \langle b_1, b_2 \rangle$, $[[C]]_\rho = \langle c_1, c_2 \rangle$, $[[\xi]]_\rho = \langle \xi_1, \xi_2 \rangle$, $[[C \rightarrow B]]_\rho = \langle d_1, d_2 \rangle$. Let us fix a formula $\xi \in \Gamma$. From the properties of the implication we have

$$\xi_1 > \max(a_1, d_1),$$

or equivalently

$$\xi_1 > a_1, \xi_1 > d_1.$$

Therefore $d_1 < 1$ and from the properties of the implication again we have

$$c_1 > b_1, \langle d_1, d_2 \rangle = \langle b_1, b_2 \rangle.$$

Finally, for each $\xi \in \Gamma$ we have

$$\xi_1 > a_1, \underbrace{\xi_1 > b_1, c_1 > b_1}_{\min(\xi_1, c_1) > b_1}$$

Since Γ is finite, we can find a number z_1 for which:

$$\min(\min_{\xi \in \Gamma}(\xi_1), c_1) > z_1 > b_1.$$

Therefore if we take a propositional variable z for which $[[z]]_\rho = \langle z_1, z_2 \rangle$ for any $z_2 \in [0; 1 - z_1]$, then we shall have

$$[[C \rightarrow z]]_\rho \neq \langle 1, 0 \rangle,$$

$$[[z \rightarrow B]]_\rho \neq \langle 1, 0 \rangle,$$

$$[[\xi \Rightarrow A \vee (C \rightarrow z) \vee (z \rightarrow B)]]_\rho \neq \langle 1, 0 \rangle,$$

for each $\xi \in \Gamma$. Finally,

$$[[\Gamma \Rightarrow A \vee (C \rightarrow z) \vee (z \rightarrow B)]]_\rho \neq \langle 1, 0 \rangle. \quad 2$$

Theorems 1 and 2 complete the proof of the A-IFS model correctness in Takeuti and Titani's axiomatic.

6. Conclusion

The present article is the first step in our research. In future we will prove strong completeness of this construct with respect to the axiomatic. We will also show that this construction is not the only possibility for building an A-IFS model. In this paper we have only discussed the straightforward generalization of Takeuti and Titani's implication. It should be noted that in [2] there has been defined a sg-implication, which is already more general than (4). However, an even more stronger implication can be defined and we plan to show this in our future work. Other A-IFS implications have been discussed in [6] and A-IFS negations – in [7].

This paper is an illustration for an object, which can be constructed to follow the intuitionistic idea but in two senses - TT-IFS sense and A-IFS sense. How should we name such kind of object? From A-IFS point of view it is a natural extension by introducing two new operations. The authors' opinion is that it is not justified that for every set of logical connectives on A-IFS we should come up with a new name.

References

- [1] Atanassov, K., Intuitionistic fuzzy sets, VII ITKR's Session, Sofia, June 1983 (Deposited in Central Sci. - Techn. Library of Bulg. Acad. of Sci., 1697/84) (in Bulg.).
- [2] Atanassov K., Two variants of intuitionistic fuzzy propositional calculus. Preprint IM-MFAIS-5-88, Sofia, 1988.
- [3] Atanassov K., Remark on intuitionistic fuzzy logic and intuitionistic logic, *Mathware*, Vol. 2, No. 2, 1995, 151-156.
- [4] Atanassov, K. *Intuitionistic Fuzzy Sets*. Springer-Physica Verlag, Heidelberg, 1999.
- [5] Atanassov, K., Elements of intuitionistic fuzzy logics. Part II: Intuitionistic fuzzy modal logics. *Advanced Studies on Contemporary Mathematics*, Vol. 5, 2002, No. 1, 1-13.
- [6] Atanassov, K., Intuitionistic fuzzy implications and Modus Ponens. *Notes on IFS*, Vol. 11 (2005), No. 1, 1-4.
- [7] Atanassov, K., New intuitionistic fuzzy negations (in preparation).
- [8] Atanassov K., Gargov G., Intuitionistic fuzzy logic. *Comptes Rendus de l'Academie bulgare des Sciences*, Tome 43, 1990, No.
- [9] Atanassov, K., G. Gargov. Elements of intuitionistic fuzzy logic. I. *Fuzzy sets and Systems* Vol. 95, 1998, No. 1, 39-52.
- [10] Deschrijver G., E. Kerre, On the relationship between some extensions of fuzzy set theory. *Fuzzy Sets and Systems*, Vol. 133 (2003), No. 2, 227-235.
- [11] Nikolova M., N. Nikolov, C. Cornelis, G. Deschrijver, Survey of the research on intuitionistic fuzzy sets. *Advanced Studies in Contemporary Mathematics*, Vol. 4, 2002, No. 2, 127-157.
- [12] Takeuti G., Titani S. Intuitionistic fuzzy logic and intuitionistic fuzzy set theory. *The Journal of Symbolic Logic*, Vol. 49, No. 3, Sept. 1984, 851-866.